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CBT Sample assessment model answers

Management Accounting: Budgeting (MABU)

Sample assessment 2
Task 1 (20 marks)
[image: image2.png]You are gathering budget information for the company for which you work.
(a) Match each item of budget data below with its appropriate source.

To show each answer, click on a box in the left column then click on a box in the right column.
To remove aline, click on it.

Appropriate source

Budget data Customer Relationship Management

(CRM) system
Details of orders placed by

your company's customers Awebsite for a leading business
news and information organisation
(e.g. The Financial Times' website)

Price indexes for potential Trade Association
export markets

The Organisation for Economic.

Cooperation and Development
(OECD) - an intergovemmental
Currency exchange rates economic organisalion

Purchases ledger






 Task 1 (continued)
[image: image3.png](b) Select the appropriate budget for

Factory extension

Market research into new product

Legal advice on employment law.

Raw material wastage

Closing bank balance.

New car for sales manager

Hire of delivery vehicles

Production management salaries
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[image: image4.png]() Selectthe appropriate accounting treatment for each of the following items.

Warehouse extension [Capitaiise and depreciate over useul ifte

Customer survey (proposed new product)  [Allocate to marketing overheads

Raw material (normal) wastage |Direct cost

Powe forpoducton macinery [Craas oproaumon i machins o ovsreairae ol
Producionabour-d ime [ topoamon oo ovsmeairae il
Storescaparment [iitsamed shrge o roaucs =






Task 1 (continued)
[image: image5.png](d) Select the appropriate term from the drop-down list to match the following description.

Collecting data about every tem in the population.

(e) Calculate the number of customers to be interviewed from each age group n order to obtain a
representative response from 4,000 interviews. Round your answers to the nearest whole number.

[Number of customers 26200 31500 35000 43300  136000)

|sample 77 £ 1029 1274] 4000|





Task 2 (20 marks)
[image: image6.png](a) Complete the following production forecast for product P.
Round any decimal figures up to the next whole number of units, f necessary.

« Closing inventory should be 15% of the following week's sales volume.
+1255% of all production fails quality control checks and is rejected.

Opening inventory 1200 1a10| 320 1335
Good production 20| oat0|  ee1s|  sem0
Sales volume sso0| o4  agoo|  saoo] o1
Closing inventory 0] 10| 13| e
Rejected production 23] 0] v rere
Total manufactured units oes2|  oea0|  1007s| 10208





[image: image7.png]You have the following information:

8,500 items of product B will be manufactured next week.
Each item requires 1.5 kilograms of raw material

15% of raw material is wasted during manufacture.

‘The opening inventory will be 1,500 kilograms.

‘The closing inventory will be 1,650 kilograms.

Calculate the material purchases.
Round up to the next whole number of kilograms (k) if n

How many kilograms are required to be input to production?

15000] ko

How many kilograms must be purchased?

15150] ko





Task 2 (continued)

[image: image8.png]You have the following information:

+ 145500 items of product C will be manufactured in June.
« 20items are made in one labour hour.
+ Four staffwill each work 170 basic hours.

(c) How many overtime hours should be budgeted?
Round up to the next whole number of hours, f n

45] hours

You have the following information

+ 15,600 items of product Z are to be made next week.
« Eachitem requires 8 minutes of directlabour time.
+ 1,840 direct labour hours are available.

(d) How many items must be subcontracted?
Round up to the next whole number of hours, f n

800] items






Task 2 (continued)

[image: image9.png]According to the standard cost card, each unit of product Q requires:
+ 15 kilograms of material.
+ 12 minutes of direct labour time of material.
2 minutes of machine time.

Budgets have been drafted by deparimental heads which show:
+ Maximum sales demand of 3,800 units.
+ 6,000 kilograms of material available.
700 hours of direct labour time available without using overtime.
+ 130 hours of machine time available.

(e) Calculate the capacity constraints for product Q by completing the table below.
Round down to the maximum whole number of units, if necessary.

‘Suffcient materals are budgeted to manufaciure: 4000
Without overlime, suffcient directabour is budgeled to manufaciure 3500
‘Sufficient machine time is budgeted fo manufaciure 3900
Without overime, the maximum sales volume is 2500
With unlimited overtime, the maximum sales volume is: 2800





   

Task 3 (20 marks)
[image: image10.png](a) Complete the three working schedules using the
information from the production budget and notes below.

Enter all figures as positive values.

Production budget units.
‘Opening inventory of finished goods | 20,000]
Production 128,000]
‘Sub-total 148,000]
Sales 132,000]
Closing inventory of finished goods 16,000]
Materials

+ Each unit produced requires 4 kilograms (kg) of material
+ Closing inventory will be valued atthe budgeted purchase price per kg.

Labour
« Each tem takes 6 minutes to produce.

+ 70 staff work 160 basic hours each in the period.

« Overtime is paid at 20% above the basic hourly rate.

Production overhead
- Variable overhead is recovered on total labour hours.

Kg

Opening inventory 7600 22600
Purchases @£3.20 per kg 520000 1664000
Sub-total 527600 168800
Used in production 512000 1636880
Closing inventory 15,5600) 49920
Labour B
Basictime @£15.00 per hour 11200 168000
Overime 1600 28800
Total 12800 196800
Variable @£3 per hour 12800 38400
Fired 9520
Total 47920






Task 3 (continued)

[image: image11.png](b) Complete the operating budget.
Enter income, costs and inventories as positive figures.

Closing finished goods inventory will be valued atthe
budgeted production cost per unit

Sales revenue 132000 200 2640000
Cost of goods sold B
Opening iventory of

finished goods 280,000
Cost of production B

Waterials 1636880

Labour 196800

Production overhead 47920 1881600)
Closing inventory of

finished goods 235200
Cost of goads sold 1926400
Gross proft/ loss) 713600)
Overheads B

Administraion 200000

Warkeling 150,000 360000)
Operating profit/ (0ss) 353600)






Task 3 (continued)

[image: image12.png]©

Complete the cash flow forecast using the budget data
that you have calculated in parts () and (b) and the.
‘additional information below.

Enter receipts and payments as positive figures.

The sales receivables balance is expected to increase by
£65,000 over the year

‘The materials payable balance is expected o decrease by
£45,500 over the year

Al other payments are made in the year in which they are
incurred.

Production overheads include a depreciation charge of
£7,500.

(5 marks)

Opening cash balance / (overdraf) (65.500)]
‘Sales receipts. 2575000)
Payments £

Material 1710500

Labour 196800

Production overheads 40420

Other overheads. 360000

Capital expendiure 120000 2427720
Closing cash balance / (overdraft) 81780)





Task 4 (20 marks)
[image: image13.png]You are the Budget Accountant for a manufacturing business.
You have prepared a draft production budgst for the coming year

The sales budget has already been agreed and is thought to be fairly reliable over the
year, although demand does fluctuate in the shortterm according to the weather

The finished product has a short shelfife.If ot sold within 16 days, it spoils and has to
be destroyed.

The production manager plans to introduce a justin-time method of production.
He argues that reducing the time that inventory is held will avoid many of the spoils.

There are two production lines, each with a capacity of 100,000 units per year. Each
production line s staffed with 24 operators.

By reducing spoils and inventory levels, the production manager hopes to avoid
commissioning a third production line during the budget year.

Write an email to the budget committee, in three sections:
(a) Submit the draft budget for approval and explain the key planning assumptions.

Draftproduction budget  "heree” ";’::I;:?'
Finished goods. Units. Units.
Sales budget 191000 198540
Closing inventory 9,100

200,100
Less opening inventory 8900

191,200
Allowance for spoils 5913
Total production required 197,113
Performance indicators
9% of production spoiled 30 25
Closing inventory weeks 25 14

(10 marks)

(b) Identify the ke budget factor in these planning assumptions and describe the risks to the business if

the assumptions are inaccurate.

(5 marks)

() Explain how the production manager will need to coordinate his plans with other members of the

‘organisation in order to manage these risks

(5 marks)





Task 4 (continued)

To:
Budget committee




Date:
xx/xx/xxxx

From:
Budget accountant




Subject: Draft production budget

a) Budget submission

I attach the draft production budget for your consideration and approval. This is calculated from the agreed sales volume budget, which shows a 4% increase over this year. Demand tends to fluctuate with the weather but, over the year, the sales budget is thought to be quite accurate.
The production manager is planning to reduce the average inventory of finished goods from 2.5 weeks average sales to 1.4 weeks. This just-in-time approach should significantly reduce spoils as our product has a shelf life of only 16 days. The production manager expects spoils to be cut by 0.5% to 2.5%.

The inventory reduction will also give a once-only reduction in the production requirement.

Despite 4% higher sales, we are budgeting for an increase in production units of only 1.4%. 

b) Key budget factor

Each of our production lines has an annual capacity of 100,000 items. The budget production level is within half of one percent of the capacity of the two lines. 
We know that demand fluctuates in the short term. With the planned reduction in inventory levels it will be extremely difficult to meet peaks in demand. During slack periods there may be idle time. Furthermore, with an underlying growth rate of 4% pa, it seems inevitable that demand will exceed capacity in the latter part of the budget year. Capacity will be the key budget factor.

When demand exceeds capacity, the consequence will be lost sales, unless alternative production arrangements can be made such as overtime, shift working, sub-contracting or installing a third production line. All of these options will come at a cost.

c) Coordination

The production manager will need to coordinate his plans very carefully with his colleagues in order to avoid losing sales or incurring heavy extra costs. In particular, he will need to:
· work closely with the marketing team to ensure that he is aware of the latest order position and sales forecasts

· review pricing policy with the senior marketing manager to optimise revenue from the available capacity

· communicate with his staff or their representative to ensure maximum operational flexibility including overtime working, etc, if possible

· with engineering or technical specialists, develop an expansion ready for when it is needed

· keep the human resource manager appraised of his plans to ensure that staff contracts are appropriate to production needs and to create a recruitment programme.

Budget Accountant

Task 5 (20 marks)
[image: image14.png]{a) Select the appropriate term to match each of the descriptions below. (2 marks)

4 clmentsofte budget are set b senior management Depatmentl o)
managers are delegated the responsibiliy of managing their own budgets. | LT2P 40wn budgefing [ 4

A costiat s xed per uit of autout ‘ v ‘

(6) Calculate the sales revenue budget and production cost budgetfor (7 macs) ‘Budgeted units Year e
June using the information provided.

+  Each unitis made from 3 kilograms (kg) of material costing £0.90 per kg. Units sold 315,000 27,000

+ Each unitrequires 3 minutes of directfabour time. Units produced 317.000 26,500)

1,100 hours of basic time is available in June. Any exra hours must
be worked as overtime.

« The directlabour rate is £15 per hour and the overime premium is 20% ‘Sales revenue 575,000 135000
+ Variable production overhead relates to labour hours, including overtime.
+ Fixed production overheads are incurred at a steady monthly rate Cost of production
across the year. Materials used 855,900 71550)
Directlabour 245700 20550)
Variable production overhead 31700 2650)
Fixed production overhead 115.200| 9600)

Total production cost 1,248,500| 104350





Task 5 (continued)


[image: image15.png]You have prepared two draft operating budgets for consideration by the
budget committee.

The firstis based on a sales forecast of 250,000 units.
The second is based on a sales forecast of 210,000 units.
Apartfrom the sales volume, all planning assumptions are idenical.

‘The budget committee has now asked you to prepare a third draft based
on sales of 225,000 units

Note: Depreciation is a stepped costincreasing at every 20,000 units of
production

No finished goods are held in inventory.

(€) Complete the Third draft’ column in the operating budget.
Round to the nearest whole number if necessary.

(11 marks)

‘Sales volume 210,000
£ £ £

‘Sales revenue 375000 3150000 337500
Costs,

Material 120000( 100800  108000|
Labour 75,000 63,000 67500)
Energy 33,250 31450 32125
Depreciation 5850 4,950 5400)
Total 234100 200000  213025|
Gross profit/(loss)| 140900 114800 124475|





Task 6 (20 marks)
[image: image16.png](a) Select the appropriate term to match the following description.

‘The actual quantiy atthe standard price minus the actual quantity atthe actual price.

“The operating statement for October showed that direct labour costs were £31,250.
2,500 directlabour hours were worked and 5,000 items were made and sold.
‘The standard cost allows 35 minutes of labour for each tem at a standard labour hourly rate of £12.

(b) Complete the table of labour costs, indicating whether each variance is favourable or adverse.

Labourc
|Flexed budget (standard cost) £ 35000

ctual avaurrate

|(correct to £0.01) £ 125

ctual minutes pertem 0

Rate varance s v
Eficiency variance ] v
(Costvarance BEC] v
(Costarance percentage

|correctto one decmal piace) 107 %





[image: image17.png]The operating statement for October showed that direct labour costs were £31,250.
2,500 directlabour hours were worked and 5,000 items were made and sold.
‘The standard cost allows 35 minutes of labour for each tem at a standard labour hourly rate of £12.

(b) Complete the table of labour costs, indicating whether each variance is favourable or adverse.

Labour
Flexed budget (standard cost) £ 35000

Actuallabour rate

(correctto £0.01) £ 25

Actual minutes perfem B}

Rate variance e s v
Effciency variance e v
Gostuariance BES) v
Gostariance percentage pr

(correct to one decimal place)

(10 marks)




[image: image18.png]Labour

Flexed budget (standard cost)

Actual labour rate
(correctto £0.01)

Actual minutes per tem
Rate variance
Efficiency variance

Costvariance

Costuariance percentage
(correctto one decimal place)
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Task 6 (continued)

[image: image19.png](c) Prepare the raw material cost statement from the activity data provided.
Round to the nearest whole number, f necessary.
Use minus signs or brackets to indicate adverse figures, if necessary.

o lems | Material | Cost
Actiity data | proguced | (ko) ®

Budget 15500 12400 272600)

Actual results 15200 11400 257640)

‘Standard material cost of production 267520)

Variances £Fav/ (Adv)
Material price 6840
Material usage 16720
Material cost 9880)





Task 7 (20 marks)
[image: image20.png]In this task you are required to complete an operating report. The original budget and actual results have
been entered.

You have the following information:

* Material, Iabour, quality control and distribution costs are variable.
* Energy costis semivariable. The fixed elementis budgeted at £13,500 for the month.

Equipment ire is a stepped cost, budgsted to increase at every 20,000 units of monthly production
* Other production overheads include a variable element of £0.28 per unit.

* Al other costs are fixed.

Complete the Monthly Operating Report below by flexing the budget, calculating all variances and
‘showing whether each variance is favourable or adverse.

Show adverse variances as negative figures using minus signs or brackets.

Variance totals are calculated for you automatically.




Task 7, continued
[image: image21.png]Monthly Operating Report

185,000 (units)| Sales and production volume 175,500 (units)

£ £ £ £

1,535,500] Sales revenue 1456650 1,432,000 24650
Costs.

490,250] Materials 485075| 468,800 -3725|
444,000] Labour 421200 418,100 3100)
11,100] Quality control 10530 10,830) -300
48,100| Distribution 45630 43730 1900
59,750| Energy 57375| 59,130) -1755|
40,000 Equipment hire 36000 34,100 1900
9,200 Depreciation 9200 9,300 -100
70,300] Other production overheads 67640 65.400) 2240)
58,500 Marketing 58500 56,700 1800
32,100| Administration 32100 30,200 1900
1,436,500] Total 1203250 1,196,200 6960)
272,200| Operating profit/ (loss) 253400 235,710 17690}





Task 8 (20 marks)
[image: image22.png]Review the operating statement shown on the right and the information below,
and then prepare a report by email.

The original budget was based on production and sales of 97,500 units and showed
an operating profit of £121,000. This was approved by the budgst committee.

The business manufactures a range of printed tablecloths which it has traditionally
sold to various department stores.

After the budget was approved, the marketing director negotiated an exclusive.
distribution agreement with an online trading company. This company now handles
all marketing and distribution. The business pays this company a commission on all
sales.

The business stillincurs the cost of shipping the tablecloths to the trading company's
warehouse.

The business's sales team was made redundant atthe beginning of the financial
fear at a cost of £85,000. The marketing director has been retained on a part time
pasis.

The exclusive distribution agreement came into effect on the first day of the financial
jear. The marketing director had not advised her colleagues aboutthe agreement
because the negotiations had been confidential

The budget committee is alarmed thatthe business barely made a profitand asks
fou, the Budget Accountant, whether a failure of the budgetary control system has
damaged business prospects.

Stuemont | Buaget | 2 | Faviaan

Sales volume. 3,000 units
000 | €000 | £000

Sales revenue so8| 705 108
Variable costs
Waterial 218 214 2
Labour 7 73 @)
Distrioution 75 5 o7
Commission of 20 (eo8)
Production overhead 25 24 1
Total 37| 57| (140
Contribution 21 79| (32)
Fixed costs
Depreciation 17| 18] 1
Other production overhead 1| 12| 9
Warkeling sa| 100 @)
Administraion 44 e o)
Total 21| ars| ws)
Operating profit 4 4 o)





[image: image23.png]Write an email to the budget committee in three sections:

(@) Explain the reasons for the variances on sales revenue, distribution and marketing. (10 marks)
(b) Explain:

+ why the business has not been as profitable as originally budgeted

+ whether the distribution agreement s likely to be beneficial in the long term. 6 marks)

(c) Describe any failings that you perceive in the budgetary control process. (4 marks)





Task 8 (continued)

To:
Budget committee

Date:
xx/xx/xxxx

From:
Budget accountant

Subject: Performance review

(a) Reasons for variances

The operating statement shows a profit of only £4,000. Profit was originally budgeted at £121,000. Even when the budget is flexed for lower than anticipated sales volume the expected profit is £84,000. It should be noted that the budget was set before we entered into the exclusive distribution agreement and has not been revised to reflect this. Consequently, there are a number of significant variances from the flexed budget.

Sales revenue shows a very favourable variance of £108,000 (18%) which is due to price. We now sell direct to consumers rather than department stores and this allows us to set prices at retail levels. It should be noted, however, that we have paid an unbudgeted sales commission of £208,000 (£2.50 per item).

There is also a favourable variance of £67,000 (89%) on distribution costs as we no longer have to ship the products to the department stores. The actual expense of £8,000 is the cost of shipping in bulk to the distributor.

Marketing costs were £46,000 (85%) above budget. We no longer need to market our products and have laid off the sales team incurring redundancy costs of £85,000. The marketing director is now a part time employee. Cost, apart from the redundancies, was £15,000. 

(b) Profitability

Profit was originally budgeted at £121,000 but we only achieved £4,000; a shortfall of £117,000.

Sales volume was 15% below the original budget. This might be expected in the first year of a new distribution arrangement or could be a sign of a longer term problem. The flexed budget calculation indicates that we would expect this volume drop to hit profit by £37,000.

There is a once-only redundancy cost of £85,000 which was not budgeted.

The volume decline and redundancy cost more than explain the fall in profit.

Apart from these variances it can be seen that the benefits from the distribution agreement are sales (price) variance of £108,000, savings in distribution of £67,000, savings in marketing of £39,000 (£54,000 - £15,000), totalling £214,000. The commission cost was £208,000. The net benefit was £6,000.

Looking forward, the key issue for the business is sales volume. If it recovers to previous levels or exceeds them it could be argued that the distribution agreement will be beneficial. If not, we appear to have made a major error.

(c) Budgetary control

It does not appear that the distribution agreement was either evaluated or approved. It was a major departure from the original budget and the budget should have been revised and authorised.

If the proposal had been properly appraised by the management team the risk of a decline in sales volume could have been assessed and the one-off costs estimated. A revised budget would then have provided a valid basis for monitoring performance. The original budget was no longer relevant.
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